IP Unit 1

Name:


Section Number:


Instructions:

· Identify the document by typing your full name and section number next to the yellow text. 
· Rename the file by adding your last name to current file name (e.g., "u1ip_lastname.doc").

· Type your answers next to the yellow text.  
· To show your work, you will need to include

· the formula with substituted values.
· the final calculated answer with units.

Please submit your assignment.
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1) a)


Given the above graph, identify the graph of the function (line, parabola, hyperbola, or exponential), explain your choice, and give the domain and range of the function.

We are asked to identify if the graph of the function is line, parabola, hyperbola, or exponential. So, there are only four choices. We conclude the graph of the function is a parabola by proving that it cannot be a line, hyperbola, or exponential. So the explanations below work towards this.
(1) It cannot be hyperbola. Since hyperbola always has to lie  both on  positive and negative y – axis. But the graph above only has part on the positive y-axis.

(2) For exponential graph the value of  e at x = 0 is one .where as the value of y here is when x = 0 is 3. Also the exponential function is either  increasing or decreasing over the domain. But the function here is NOT increasing or decreasing. Therefore it cannot be exponential
(3) It cannot be a line obviously.
So, we conclude that it has to be a parabola

Look at the graph above, we can roughly see all values of x are between -1 and 3, not inclusively on the endpoints. So, the domain is (-1,3)

The range is the interval where all y values are. See the graph, we observed y can be from 2 to 4.5 roughly. So, range is an open interval [2, 4.5)

Hope it makes sense. In fact, the graph “Parabola” corresponds a quadratic function 
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The following answer is what you provided

Graph Type
Parabola


Explanation

1. For hyperbola it has to lie  both on  positive and negative y – axis where as the graph here lies only on positive y axis .So it cannot be hyperbola.
2. For exponential  graph the value of  e at x = 0 is one .where as the value of y here is when x = 0 is 3.Therefore it cannot be exponential
3. Finally it cannot be a line  .
4. It is parabola  .

Domain
  - 1 < x  <   3

Range
     2 <  y <  4.5


	x
	-2
	-1
	0
	1
	2

	y
	.25
	.5
	1
	2
	4


Given the table above, graph the function, identify the graph of the function (line, parabola, hyperbola, or exponential), explain your choice, and give the domain and range of the function.


Graph 



Graph Type 


Explanation


Domain


Range



c) 
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Given the graph above, identify the graph of the function (line, parabola, hyperbola, or exponential), explain your choice, and give the domain and range of the function.



Graph Type


Explanation


Domain


Range





d)  In most businesses, increasing prices of their product can have a negative effect on the number of customers of the business. A bus company in a small town has an average number of riders of 1,000 per day. The bus company charges $2.00 for a ride. They conducted a survey of their customers and found that they will lose approximately 50 customers per day for each $.25 increase in fare.

Given the descriptions above, graph the function, identify the graph of the function (line, parabola, hyperbola, or exponential), explain your choice, and give the domain and range of the function.

Graph
 

Graph Type


Explanation


Domain


Range





1) For the function,
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b) Give the y values for x = -2, -1, 0, 1, 2, 3
Answer:
	x
	-2
	-1
	0
	1
	2
	3

	y
	.333333
	-.5
	-1
	Can not 
	1
	.5


2) 
Show work in this space.

y=1/(-2-1)              y=1/(-1-1)      y=1/(0-1)    y=1/(1-1)      y=1/(2-1)      y=1/(3-1)
Y=1/-3                   y=1/-2             y=1/-1        y=1/0             y=1/1           y=1/ 2  

Y=.33333               y= -.5              y= -1          y= can not     y= 1
  y= .5



b) Using these points, draw a smooth curve.
Show graph here. 





3) It is approximately 300 miles from Chicago, Illinois, to St. Louis, Missouri. Allowing for various traffic conditions, a driver can average approximately 60 miles per hour.

b) Write a linear function that expresses the distance traveled, d, as a function of time, t.


Answer:






c) How far have you traveled after 3 hours?


Answer:



Show work in this space.






d) Write a linear function that expresses the distance to be traveled to reach St. Louis, s, as a function of time, t.


Answer:



Show work in this space.






e) How far will I need to travel to reach St. Louis after I have traveled 3 hours?


Answer:



Show work in this space.
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